Mavzu: Ko'rsatkichli tengsizliklar

8.42. Ko'rsatkichli tengsizliklarni veching:
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Mavzu: Misollar yechish

5. TeHTrcH3MMKHU CYHHT:
1)3* > 81, - 2)0,5" >8;
5)0,25* > > 4; 6)3" ¥+ < .f3;
9107 >1077*;  10)3+-2 /3,
12)0,8¢-2Y0~) 5 16/25;
12)0,8°2 5 16/25;

6. TeHrcH3MIKHY CUMHT.
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7. TeHrcu3mnKHY CUUHT:

1)4x <2x+| +3, 2)32.t+5 —<_3.1:+2 +2, 3)221.\'+4l:’x+2 <62;
4)3” —6-3* +9>0; 5)5-2—24-2" +56<0;
6)4"* 2" +3<0; 7)5% —6-5" +5<0, 8)57 >5" +4
9)10-0,3* <1,3-0,3*' -0,027; 10)9" <8-3" +9;
; x-0,5
11)12% —6.12" =25 0; 12)4%% _251 _3 <, 13)0’:3g <5.0,04";
14)14-5% > 6-5% +40; 15)327 —10-37" +3<0;  16)5% +2-5"-35>0.
8. TeHrc3MuMKHY €UMHT:
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6) (x i 3)x ~Tx S 1; 7) (x _8x+ 8)x—0 2 8) (3 . x)(3x—5)/(3-x) < 1;

9, TeHTCH3IIUKHY €UVHT:

1)2,5" >2,5™; 2)0,13% > 0,13 3)( ) G) s 433

5)0.0431—2 > 52—.1'; 6) 8.1:—3 < 0,1252.\'; 7) Sx 243x41,5 < 5‘\/5; 8) 0’2x2—6x+7 >1.



